Speed Controller

Stainless Steel / Heat Resistant / Clean

tainl teel Meter Out A Part Number | WrerchRes | Thread Size | Mass [ UnitPrce setamtsste
WiStainless Steel | AShsL Type (D[ A C1C2 B "H "M | (@ [ 103
T N H 4 M5([ 21 | 32136712 | 10 | M5x0.8 | 25.9
/ 11233794414 13 | R1/8 |41.0
M5) 225|321 ]37[ 12| 10 | M5x0.8 | 24.9
8l - J— 61 [245|379[434]14 | 13 | R1/8 |405
] 7 ]}ﬂ - 2 |26 | 47153317 | 16 | R1/4 |73.0
ASPSL 1126 |379]434| 14| 13 | R1/8 |39.2
8| 2 [275]471|533 |17 | 16 | R1/4 |71.8
— M 3 |295]551|616] 22| 19 | R3/8 |133.0
Metic | 10 2 [30 47153317 | 16 | R1/4 |70.7
Thread Type i:t% 3 |32 |551|616] 22| 19 | R3/8 |134.0
M 12] 3 [3355.1|616] 22| 19 | R3/8 |129.8
® .Struc1ure Diagram F W - j : (®For orders larger than indicated quantity, please check with WOS.
@ Speicaors 2 No. | Part Name | [[IMaterial No. | Part Name | [[IMaterial
“Applicable Fluid | Ar____ 1 g ) [Handle EN1.4401 Equv. _(© |Check Part | EN 14401 Equiv.
“Operating Temp.Range | 10 ~ 60°C ‘ 1002 ({4 Spindles EN 1.4401 Equiv. (0 |Gasket Fluorine
mw Lock Nut EN 1.4401 Equiv. @D |Chuck Holder EN 1.4401 Equiv.
“OperangVacum Lewel | -0.1MPa__ — Rotary Shaft  |EN 1.4401 Equiv. (2 |Chuck EN 1.4319 Equiv.
- 5 0-Ring Fluorine @3 |Push Ring A EN 1.4401 Equiv.
BWFeatures O J[WEYEHHEAT T B Rotating Object | EN 1.4401 Equiv. 44 |Outer Ring EN 1.4401 Equiv.
«Excels in corrosion E @ |E-Ring Steel 45 |Push Ring B EN 1.4401 Equiv.
resistance. B (8 |V Gasket HNBR
U : M ® ©
8 ! 9
Heat-Resistant Meter Out A Part Number | _ e s | Thread Sze | Miass | Unt Price ot
u ksesL___ I Type | D™ A C1|C2|E |y | "M | (g [i-omn] 100
— H 4 M5(22.6] 30 [32.7/12.5] 11 | M5x0.8 | 25.6
1 124.8|38.144.4/12.5| 14 | R1/8 | 43.1
M5)24.1| 30 [32.7]12.5| 11 | M5x0.8 | 26
S S || 7770#“' 6] 1 [26.1/38.1144.4/1125| 14 | R1/8 |434
M 2 127.6/46.9/53.3|14.5| 17 | R1/4 | 68.9
KSPSL 1 126.9|38.1]44.4|145| 14 | R1/8 | 45.8
| 8| 2 [28.4]46.9|53.3/14.5| 17 | R1/4 | 69.1
—— M 3 130.1]51.2|58.4{14.5| 21 | R3/8 |106.5
Cg 10 2 131.2|146.9/53.3|18.6| 17 | R1/4 |82.4
Metric iﬁ 3 133.0151.2|58.4|21.5| 21 | R3/8 |127.7
Thread Type 12| 3 [36.1]51.2[58.4[21.6] 21 | R3/8 [ 134
® . Structure Dia gram (®For orders larger than indicated quantity, please check with WOS.
@ Spcficor No. | Part Name | [[IMaterial _No. | Part Name | [[JMaterial
MT Knob Brass ectolss kel Ping Guide Ring Brass Hectolss kel Pang
“OperdingTenp. Range | 0~ 100°C Lock Nut Brass Hectolss kel Ping Lock Paw! Stainless Steel
mm ‘ ‘ @ |Thread Bres [Hectoless kel Plaing) Diaphragm H-NBR
Oeetes| 0.05MPa L i Elastic Sleeve | H-NBR 1) |0-Ring H-NBR
- Release Ring | Brass Hectoless kel Pletng) Metal Body Bress [Hcolss kel Platng)
.Features = ' ‘ Tube Needle Bress (ctoess Nicke Plating)
«Flow rate control valves suitable ] (@ |Cover Bress (ctoess Nicke Plating)
for using at high temperature i‘l“k
and in spattering environment. ) (il Heat-Resisting Sealock
Clean Meter Out A Part Number| WrenchFlas | Thread Size | Mass [ UnitPrice nscommaae
. PJSPS 1 Type D|*™[A I E H M | (@ [-wel 102
4 M5 [20.0] 27 |29.7| 9.9 8 M5x0.8 7
1 [21.534.4/140.5| 10 12 R1/8 18
| M5 (241 27 |29.7 8 M5x0.8 8
Sl [ = (S 6 1 [23.6/34.4/405/12.4] 12 R1/8 19
ﬁ = fE["” 2 |25.6]41.4|47.6 16 R1/4 38
PJSPS 1 [26.9/34.4]405 12 | RiB | 22
Hj_jﬂL¥ 8 [ 2 [284[41.4147.6/144 16 | R4 | 41
==\ M 3 28.9]46.5(53.5 21 R3/8_ | 69
Vetri « 10 2 |31.1]41.4]47.6 17.6 16 R1/4 44
T e % 3 [31.4[46.5(53.5]'"°[ 21 | R3/8 | 71
T M 12| 3 |37.1]46.5/53.5] 21 21 R3/8 106
® .Features .Structure Diagram (®For orders larger than indicated quantity, please check with WOS.
G Secins ~N|Iaterial PP (Polygropylene) is used. Suitable for use in a
Mpplicable Fluid] A -%r?: ﬁbgg;lrigng(];r?i-transparent, so fluid is viewable from N‘: Part Name MMaterial
Operating Temp. Range | 0 ~ 80°C outside. . D _|Lock Pan. Stainless Steel
“edingPesueRae | 0~0.0MPa ..NF;I;ﬁC:nl;Iiﬁle(gns for Use (@ |Release Ring Polypropylene
S Opertighess)  0.05MPa -Confirr?] if the tube is inserted to the tube end of the body. = E:fge Ring EN 14301 Equiv,
@Drdering - Elastic Sleeve  |EPDM
Example  Aspsi4 - 1 0-Ring EPDM
)| Metal Body EN 1.4301 Equiv.
Resin Body Polypropylene
Di EPDM
0 |Lock Nut EN 1.4301 Equiv.
1) |Needle EN 1.4301 Equiv.

Throttle Valves

M Throttle Valves

Elbow

SEJC

Release Ring

4
Release Ring Release Ring

Mini Type ~ Standard Type
D: 4~6

m Metric Thread Type
Part Number . L1 Opposite Mass |Unit Price | puammpae
Type | D |\ommal] R Max | Min | Max | Min | 2 | P* | P2 | C | E Igen| X | Y ["(g) [1-9pcs. 10-30
4 M5 | M5x0.8 | 2.9 | 29.7 | 27 | 268|241 | 6.7 8 9.8 11 154 | 8 78 | 98 7.9
1 R1/8 8 413|352 373312107 14.4 17.7 | 10 i | 18
M5 | M5x0.8 | 2.9 | 29.7 | 27 | 26.8 | 24.1 | 7.58 9.8 175] 8 8.6
SEJC 6 1 R1/8 8 |413[352|373|31.2|10.7 | 105|144 116|183 | 10 | 98 | 11.8 | 19
2 R1/4 | 11.1 | 48.7 | 41.9 | 42.7 | 359 | 11.9 18.4 20.2 | 14 37
1 R1/8 8 |413]352|373[31.2] 119 14.4 269 | 10 22
82 | rim 287 419 | 427 350 | 132 | #4184 | 181 284 [ 14 | 38| -~ [0
10 2 R1/4 48.7 | 419 | 427 | 359 | 148 | 17.6 | 184 | 20.2 | 309 | 14 | 16.8 = 44
@FOT orders larger than indicated quantity, please check with WOS.
M Throttle Valves
Unions SEJR
2-T
aa
)
&t !
Part Number B1 Mass | Unit Price | volune Discount Rte
Type D | Max | Min | B2 | %P | T o | el || A F2 | (@) [1-9pc(s).| 10~30
4 20.5 18.1 21 10 10.5 14.9 3.2 12.7 4.8 8.8
SEJR 6 25.4 21.6 24.4 12.5 13.1 17 3.2 14.8 6.2 14
8 30.6 25.1 28 14.8 15.4 18.1 3.2 18.2 7.2 27
10 35.4 28.9 31.8 18.2 19.7 20.2 4.2 22.2 8.7 48
(®)For orders larger than indicated quantity, please check with WOS.
@ Ordering ) 1 Features / Specifications <SEJR>
Example  SEjC4 M5 .l. 4 ContolFow
[WFreatures: Regardless of free flow or control flow, air can = m‘ 07
be controlled from either right or left side. =1 F
Applicable Fluid___ Air g 05 =
Operating Temp. Rangel 0 ~ 60°C  *Operating pressure is set at 2 0 =03 2
OperatingPressueangl  0~0.OMPa  ambient temperature (20°C). H ;gb ; = 0 &
WFlow Rate Characteristics 0 7 L 0
WStructure Diagram Tube End <SEJC> Needle Revolutions
g-mg Control Flow 6 Control Fiow
£1% Ll & ] =107 &
€100 =07 £ 05
o == ==
L) 01 & R — s
01 2 3 45 6 7 8 0 23 101112
Needle Revolutions Needle Revolutions
4-1 (ot Fiow, 8 Control Flow
g:} Z400 g = 50 s
£300 — 109 g W 05
S 072 S 30 132
g0 =932 2 W ] 03 2
WStructure Diagram (Elbow: SEJC) 510 = ots ERU e S -
No. | Part Name [MMaterial 01234567891011 0 234567 891MN
D |Needle Brass, Electroless Nickel Plating Needle Revolutions Needle Revolutions
) |Lock Nut Aluminum 6-2 10
) [Metal Body | Brass, Eleciroless Nickel Plating o lmfu _ ContoFlow 0T
D [0-Ring Nitrile Rubber 10-2 52%88 09E E A 05§
Resin Body | Polybuty =500 o7 s £ W =
® |0-Ring Nitrile Rubber Eggg 1053 s o SR
Elastic Sleeve | Nitrile Rubber Z200 T — 1038 z W === o1 €
Lock Pawl | Stainless Steel =100 — 01 2 W T &
Release Ring | Polyacetal 234 10111213 01234 01112134151
Guide Ring | Brass, Electroless Nickel Plating Needle Revolutions Needle Revolutions




